
Mancla t02fc (2 players)

The player's big cup is on the right

There are 3 pieces in all the small cups

Each player goes in turn

Player moves pieces in a cup to the right at one piece per cup including Player's big cup

& contiues around the other side in couterclock wise way

Piece in small cup Y Player put all pieces in small cup

N  on opponent's E in right large cup

O  side? S

Player get another turn

Player's small cups are all empty?
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Player's last Y

N piece in player's E

O right large cup? S

Next player takes a turn

The player with the most pieces in their large cup wins
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